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QUESTION 1

What is the purpose of the Switch Microservice of Policy Enforcer?

A. to isolate infected hosts

B. to enroll SRX Series devices with Juniper ATP Cloud

C. to inspect traffic for malware

D. to synchronize security policies to SRX Series devices

Correct Answer: D

Explanation: The Switch Microservice of Policy Enforcer is used to synchronize security policies to SRX Series devices.
It receives the policy configuration from the Policy Manager and pushes it to the SRX Series devices. It\'s responsible
for configuring the security policies on the SRX devices, including firewall rules, VPN configurations, and other security
features.

The purpose of the Switch Microservice of Policy Enforcer is to synchronize security policies to SRX Series devices. It

allows administrators to quickly apply security policies across their network devices, ensuring consistent security
settings. Additionally, it can help to prevent unauthorized access and malware propagation.

QUESTION 2

Exhibit Referring to the exhibit, which three statements are true? (Choose three.)
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A. The packet\\'s destination is to an interface on the SRX Series device.
B. The packet\\'s destination is to a server in the DMZ zone.

C. The packet originated within the Trust zone.

D. The packet is dropped before making an SSH connection.

E. The packet is allowed to make an SSH connection.

Correct Answer: ACD
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QUESTION 3

You are connecting two remote sites to your corporate headquarters site; you must ensure that all traffic is secured and
only uses a single Phase 2 SA for both sites.

In this scenario, which VPN should be used?

A. An IPsec group VPN with the corporate firewall acting as the hub device.

B. Full mesh IPsec VPNs with tunnels between all sites.

C. A hub-and-spoke IPsec VPN with the corporate firewall acting as the hub device.
D. A full mesh Layer 3 VPN with the corporate firewall acting as the hub device.
Correct Answer: A

Explanation: https://www.juniper.net/us/en/local/pdf/app-notes/3500202-en.pdf

QUESTION 4

You have designed the firewall filter shown in the exhibit to limit SSH control traffic to yours SRX Series device without
affecting other traffic. Which two statement are true in this scenario? (Choose two.)

A. The filter should be applied as an output filter on the loopback interface.
B. Applying the filter will achieve the desired result.

C. Applying the filter will not achieve the desired result.

D. The filter should be applied as an input filter on the loopback interface.
Correct Answer: CD

Explanation: https://www.juniper.net/documentation//en_US/junos/topics/concept/firewall- filter-ex-series-evaluation-
understanding.html

QUESTION 5

Exhibit
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Which two statements are correct about the output shown in the exhibit? (Choose two.)
A. The packet is silently discarded.

B. The packet is part of an existing session.

C. The packet is part of a new session.

D. The packet is explicitly rejected.

Correct Answer: CD
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